Fall '10/MAT 140/Joysheet 1 Name: Do 4_5*;14 Show all your work.

1. (12pts) Simplify and write the answer 50 all exponents are p::mtwc
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2. (4pts) Convert to scientific notation or a decimal number:
0B T034x 107 = J.0005 7034 1,034,000,000,= |, 03¢ 10"

3. (&pts) Simplify and write in standard form:

a) 3z(x? —3) — (4 —5)(z +3) = =

b) (2o (3% —z—5)= bX ~ 2%~



4. (15pts) Use formulas to expand:
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5. (15pts) Factor the following. Use either a known formula or a [actoring method.
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6. (Gpts) Fill in the appropriate prefix:
The bomb has the same destructive power as 4 x 10° tons of TNT, or 4_mé€5cc  tons.
The wavelength of blue light is about 400 x 10~? meters, or 400_H12"2  meters.

!
The hard drive has a capacity of 20 x 10*? bytes, or 20__L€/5L  bytes.



